Ol oo Xz b 4

gl Sy pole I C Y
S 3y oSl

obsls g o3 (el 09,5

(Lesson plan) _wjs &b

O,k 553 )0 Jghumo g o @
\f"’/“’/“‘soyé‘-‘ 4\.0[3,3 d*‘" el 99 :uo)lf ‘5)|}f).3 QLD)' ®
SR 3 sghe SR Y aide bjgel G @

oyt [t 9 (05 lS: o yd i
fosiss § St Syt g jolils g LS

2 gmols ey 93 59b oMl (5 g0

o0y S Bas

oy sl yogy 9 of pandiiid igy syI0,b 40 Fade OYNS] £l oy 4o

s olats | Gloal
10,90 bl o sxiils
ittty 6105k 5 ol Sghe YS! glgil .Y
Wil 1y 6510,b la cighe (Sl gla pansid
il 1y 6518,k sl cighe glgil (Giglgmonnl .
it 1 6,10,b 55 STD glgsl

Y
v
¢
il 1) coils glgl (Sl @ode .0
Wil Ty 55005k 58 (swe g Sktgie glgl (Sl idle .
s Ty 610k alis b Caghe cyboys o9z .V

bl [y 5510,k o cigas glgil Lo Sldieil A
ilar 1) 6510,k skghe (S 9 550k (2)lee glgl A

Wlag 1y 6510,5b s Cighe el o L)

)50 2 e Rzl = (29,5 wimlis - (Sl 1w 08 938 5 N9,

29,5 S 59,50 £ib 090 BT geil el g lges 1)l 05

QL%S’.":'J‘Q Lgﬁfoli Lg[;b&.sﬂxé g 451)| u:""j)
59 G ez ollgi 50,5 laws cyale (56T (40,5 cublosly slo asly, Jdow — pgo Cdllas (gois adb — g0 o>
oS sl 5¥g50 - POwer point -s;dll 5l solau! - b

]




